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QUESTION 1

In the storage failover command, what does the bypass-optimization option do? 

A. It takes over the partner node without performing aggregate relocation. 

B. It migrates all logical interfaces during takeover. 

C. It takes over without migrating all logical interfaces. 

D. It takes over the partner node performing aggregate relocation. 

Correct Answer: A 

Take over the partner node without performing aggregate relocation storage failover takeover -bypassoptimization true 

Reference: https://library.netapp.com/ecmdocs/ECMP1367947/html/GUID-4B814447-
521D-43B7-846DAB4EF86A25A1.html 

 

QUESTION 2

Which statement is true about a Data Protection (DP) - type SnapMirror destination volume? 

A. It can be in a Data ONTAP GX Cluster 

B. It must be on the same disk type as the source volume 

C. It can be smaller than the source volume 

D. It can be on a different disk type than the source volume 

Correct Answer: D 

 

QUESTION 3

Which two clustered Data ONTAP clone technologies will lock volume snapshot? (Choose two) 

A. Vol Clone 

B. LUN Clone 

C. AggrClone 

D. FlexClone 

E. SnapClone 

Correct Answer: BD 

http://examcramnotes.blogspot.nl/ 
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QUESTION 4

With clustered Data ONTAP 8.2 or later, which SAN component will no longer be supported? 

A. Windows Server 2012 

B. vSphere 5.1 

C. Veritas DMP 

D. Red Hat Enterprise Linux 6.2 

E. AIX 7.1 

Correct Answer: C 

 

QUESTION 5

Which four features does Cluster-Mode support? (Choose four.) 

A. Data protection mirrors 

B. Load-sharing mirrors 

C. NDMP tape backup 

D. Non-disruptive upgrades 

E. Synchronous SnapMirror 

Correct Answer: ABCD 
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